South Lanarkshire Council Problem Solving in Mathematics Second 1
Here piggy p'99y?|

When asked about the number of pigs in her field
the farmer replied,
e There are less than 100, but more than 30
pigs in the field.
e When I divide the number of pigs by twos
there was one left over.
e When I divided the number of pigs by
threes there was one left over.
e When I divided the number of pigs by
four there was one left over.
e When I counted in fives there were
none left over.

How many pigs are in the farmers field?
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' a number square like the one above to help
e vou eliminate the number vou don't need.
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